R8T h5-65F & BUOER @ XL AL

BET) >+ Y
(5-76$i BUOEH: @EH6

BT
[ Iki=100ha )< Ikilhao100f
kit DB % ha ICBEHNABLEI,
X100 FHILLW
BEEAETS
[ 1ha=0.01ki ]< !haidlkio 10050

ha OEMLE kit (STEINABLEE,
X 0.0l F7=l&, + 100 UL

® 209ha= ( 2.09 ) kn
209(ha)X0.01=2.09 ki 209 kni(ha)+100=2.09 kn

@ 1.45ha= ( 0.0145 ) ki
|.45(ha)X0.01=0.0145 ki 1.45 kifi(ha)+ 100=0.0 |45 kif

® 3980ha= ( 39.8 ) ki
3980(ha)x0.01=39.8 kit 3980 knf(ha)~100=39.8 ki

@ 0.54km= ( 54 ) ha
0.54(ha)X 1 00=54 kn

® 617ki= ( 61700 ) ha
6 17(ha)x 100=6 1700 kr

® 9.94ki= ( 994 ) ha
9.94(ha)x | 00=994 kit
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(1B

B E/N3KT 5

[

| ha=10000 i |

Bz KE<T5

| i=0.0001 ha |

lha i&1 nfo> 10000 &
ha OBfIE nf ICBEEPAZLER,
X 10000 gL

| & 1ha @ 10000 4o |
M OBMI% ha ICEENABLEW,

X 0.0001 F7=Id,

960000 m= ( 96 ) ha
960000(m)x0.000 | =96ha

960000(m)~+10000=96 ha

39400 m= ( 3.94 ) ha
39400(m)X0.0001=3.94ha

39400( )+ 10000=3.94 ha

0.62ha= ( 6200 ) m
0.62(ha)x 10000=3.94 m

0.043ha= ( 430 ) m
0.043(ha)X 10000=430 m
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B NI<TS
| Iki=10000a |

Bt RE<CTS
[ 1 a=0.0001 ki |

| knild 1a 10000 &
ki OBEMI%Z o ICHEEIHNABLEE,
X 10000 FHuiEL\

lald | kiiod 10000 2 |
a DBEM%E ki ICEEHNZBLEIL,

X 0.0001 F7=Id,

@D 69400a= ( 6.94 ) kif
69400(a)x0.000 | =6.94 kif
69400 (a)+10000=6.94 ki

@ 257a= ( 0.0257 ) ki
257(a)x0.000 1 =0.0257 kit
69400 (a)+10000=6.94 ki

® 30.6 ki= ( 306000 ) a
30.6 (kf)x 10000=6.94 a

@ 7.42ki= ( 74200 ) a

7.42 (kif)X | 0000=74200 a
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+ 10000 THuILL\
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